
38.  WCSC Tournament Bern, 26-27 August 2014

90 solvers 

(Nr of problem – author – stipulation - average points - #solver 5 pt - #solver 0,5-4,5 pt 
- #solver wrong sol - #solver no sol.)

1 – Ahues - #2 – 4,28 – 77 – 0 – 12 – 1
wrong keys: 1. d4? (10x)  1. Rc4? (2x) 
2 – Knuppert - #2 – 3,50 – 63 – 0 – 26 – 1 
wrong keys: 1. Bc4? (6x) 1. Rd7? (4x) 1. Rf7? (3x) 
3 – Tolstoi - #2 – 3,11 – 56 – 0 -28 – 6
wrong keys: 1.Sf4? (6x) 1. Sc3? (4x)  1. Sf6? (4x) 
4 – Bruch - #3 – 2,43 – 17 – 39 – 25 – 9 
wrong keys: 1.Qe8? (6x) 1. Qh8? (5x)  1. Sc3? (4x)  1. Bd6? (3x)
missing or wrong var (solvers with 3 – 4,5 pts)  Rg3 (28x) dxc6 (14x) f3 (2x) thr. (1x) 
5 – Kutzborski - #3 – 2,53 – 31 – 23 – 23 – 13 
wrong keys: 1. Kc8? (6x)  1. Rb8?  (5x) 
missing or wrong var: Bd6 (11x) cxb2 (4x) Sc2 (4x) Rd4 (2x) thr. (2x) Re4 (1x)  
6 – Vigin - #3 – 2,25 – 14 – 40 – 17 – 19 
wrong keys: 1. b7? (4x) 
missing or wrong var.: Bb2,c1 (19x) bxc3 (13x) b3 (2x) dxc2 (2x) fxg3 (2x) 
7 – Eucken – eg – 3,24 – 55 – 14 – 17 – 4
wrong moves: 1. b4? (10x)  1. Sf4 (5x) 1…Sc6? (10x) 
8 – Schmidt – eg – 2,00 – 28 – 22 – 37 – 3 
wrong moves: 1. Qb6? (14x) 1. Qf7? (8x) 1. Qb8? (5x) 1. g4? (4x) 1. Qe7? (3x)  3. Qa5? (4x) 
9 – Wotawa – eg – 2,12 – 35 – 9 – 44 – 2
wrong moves: 1. c3? (15x)  1. Rb8? (15x) 1. Ra1? (11x)  
10 – Dragoun – h#2 – 4,61 – 82 – 2 – 0 – 6 
only b)Ke4  (2x) 
11 – Barsukov – h#3 – 3,34 – 50 – 19 – 2 – 19 
only f5/Rb4 (1x) f5/Re3 (5x) Rb4/Re3 (9x) only f5 (-) Rb4 (3x) Re3 (1x)  
all solutions with f5: 56  with Rb4: 63  with Re3: 65 
12 – Moser etc – h#6 – 0,78 – 5 – 18 – 3 – 64 
only Rh6 (12x) only Bd8 (6x); all solutions with Rh6: 17, with Bd8: 11 
13 – Bogdanov - #4 – 1,14 – 9 – 21 – 41 – 19 
wrong keys: 1. Qd8? (7x) 1. Kg4? (5x) 1. Qa4? (4x) 1.Bg4? (4x) 
14 – Alaikov - #4 – 3,08 – 71 - 1 – 7 – 11
wrong keys: 1. e6? (4x)  1. Re6? (2x) 
15 – Krätschmer - #7 – 1,67 – 30 – 0 – 38 – 22
wrong keys/moves: 1. Bg3? (6x)  1. Sb5? (5x) 1. Re2? (3x) 2. Sb5? (9x)  4. Re1? (2x) 
16 – Chlubna – s#2 – 4,32 – 68 – 14 – 4  - 4 
wrong or missing var: Kc4 (11x)  Kd4 (3x) Kd6 (2x) 
17 – Avner – s#3 – 3,41 – 39 – 34 – 10 – 7 
wrong keys: 1.Bd6? (6x) 1. Sc4? (2x) 
wrong or missing var: Sc4 (13x) c1Q (9x) f5 (9x) 
18 – Herzberg – s#6 – 1,09 – 7 – 25 – 18 – 40 
wrong keys: 1. Re7? (3x) 
wrong or missing var.: Re2 (21x) Se2 (8) thr. (8x) 


